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22. Fill in the blanks :
[i}i;luukiluﬂlhwilhmhmmlhuw“kmnn
(ii) Quadrilaterals which have all sides oqual are or
(i) and are the quadrilaterals which have opposite sides parullel.
[iv}hqmdﬂllhnlwilhmmuhd.jmﬁ--qulhnﬂhdi .
{ﬂ.tfuunudﬂpmwlduupllrnfpmlhldduhulhdl )
(vi) Dingonals of a rhombus are to each other.

(vii) Diagonals of a rhombus divide il into two triangles.
(wiii) is the only quadrilateral which has its sides perpendicular as well as

diagonals perpendicular to each other.
59?).1);1 s
("U Quﬂd\:l_,ﬁ_a,}ETu_a& wifh _2aceh qu?}.l lQ_T_VQ_,Q

=]
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2qual ave Squave o Thombed.
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frun-dﬁ.ime-fm wrich  have.  oppesihe

Siele quQ.inﬁ.
J.Ct.d*;'n..ﬂn}EHm.Q wifh 4o rﬁf’f o-f-
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parallel Sidos is called a Pepeziom
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23. Write True or False :
(i) Every rhombus is o square,
(i) Every square is n reclangle.
(iti) Every kite is a parallelogram.
(iv) Every rhombus is not a parallelogram.
(v} In a rhombus, the dingonals are not equal in length.
(vi) Diagonals divide every quadrilateral in congruent trinngles,
(vii) Sum of the angles of a concave quadrilateral is 360°,
(viii) Every parallelogram Ix a trapexium but every tmpezium is
(ix) The dingonals of a kite arc perpendicular 10 each other,
{(x) Sum of the opposite angles of a parallelogram is | 80"

) False.

Avhomba 15 a Srrdh—:. mD.j f each cmobﬂ_g Yy
Laual 4o 96,
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not a parallelogram.
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MISCELLANEOUS EXERCISE
I. A quadrilateral has three acute angles, cach mensuring 75°. Find its fourth nngle,

Selyrion:
Sum of 4+hs ‘indens’ frnailﬁ of o
?mdﬁlﬁtﬂ& = 360"

Sum g-{ Hyee.- e LB U o S Cl_h-a.-o-lb = QJF -'-]-.Eﬂ
= as"

.. Mesauye Q—F ,-{:;U—r”h H'\ﬂfu — 3‘&:1"-" 225"
= |13s°

2. I:)mngl:uflqudrihmlilI!ﬂ'lndﬂluuwnnhru:mlumaqul. Find the measure of the
other three angles.

Skuson:
Saapm of the trvee Crnam

= 2o - o = 2Uo
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=
o

S Measuns. of cach &naﬂ.m




.l.Thunmlunhql-i'ihl:llmhlheminnl'l:1:3:4.thl+thqhnf|h¢m
Selistion:
LeXr the Cn have +ho moptures 11&; 3"

s

X and 4x°
Then,

2% 4+ 2 2 A4y = 12F
12 = 3

*

i

$ _ =20
[YCI

e =

Thees,

Messuve. of 3:; = Bp® = 10

@ e il 8
Measuve of 3x = Zx 30 1
[ — 3 - 'I-Q- :
Meanuve. of 4% = RS I

4. ﬂﬂﬂh-w-nhﬂmhﬂlfﬂ.ﬂ:£D-1:1.£ﬂ:£€-4:5.thh*
of the irapezium.

Sebutiem’
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Lp(e: L. LD = Wrht §5%
and Ia% B & Lt¥ £D = 260
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NMews,

Dot he and,ﬂ,nz. of tha messured xS yx”,

Sx and 2Xx .

Then,

I 4 Ux 4 SY + 22X = 360

16‘3__‘ - 36'5:"
X = PO = 20

1Y
Thaa, .
Meanuwe of 5 = Fr2s = 140
Measure of Yx* = Y¥ya2e = §e”
Meoruve of Sx = Sx28 = IED:
“0

Meatirre of- ~x* = Aa%1e =

Hence, /A= 3Fx = 14qe°
&
LB= 43" = B

L]

Lc_ = S:r: = IS0

Lp= = O

]

5. The adjacent angles of n paralielogram are in the ratio 2 : 3. Find the angles.

Selution®

G of adgacent anajzu, ha 2
?4mﬂ.mﬁa‘l““m = (o’ /
1E

LA LB = 2° 2, f
Baﬁ'lf':—&
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1% and X, |

‘. 2% +3x® = 18 |
5 |
sx” = |80 |
3"—-5 - ]S‘bb o
— 36
5

]Lr:r; = 24 316°= 33) |

and GES = %36 F led

jl’\ PGTCLMJ._Q,{JDaWﬂm E;P,Fﬂsh‘ﬁr CT‘FLORDA
waim qQve_
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| Hfﬁt?r -ytTA:l.‘rE.f‘l mAashure B 1[ 9
¥ 103", I 108
6. One angle of a parallelogram is 70°. Find the other angles of the parallelogram. |

V] |
C_:G.'QLLJ:: an ', .-I
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Hence;, Hhe Othe mna,ﬂu. are (10, 3o and
\\o ;_n.-)...fcr.hvtnj

7. One side of a paraliclogram is 4.8 cm and thie other
cackmeter: of thé parsiislogram, lkl#lll times of this side. Find the

Solu yien:
Tn Wﬂlnﬂugﬁ'ﬂm eppns.!ﬂ
Sidoy ave
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e em 4 “rd Om

= 24 un
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[ I - LDl




§. ABCD is a rhombus. Diagonals AC and BD bisect each other st point O such that AC = 6 em,
and BD = 8 cm. Find the side of the rhombus.

Tha ﬁhwm boeth C;Jcaﬂnm piseck €ach

Othey C\J“hahf’ a?}iﬂ‘:“‘
Fmr\,[:-lo,uﬂh we have!

KO = 9Q oM
op= Hun

e JKQDJ'L + (oB)™

T3y = J3xle =S
..*, F\fﬁ:: Swum
sides ove
In ~hom bab a0 & e
Ths  Sicke of tha whembsd ! -

9. nmuuf.mm_m.hmummm.qw

Selukr gy
Mer, when ¢he nll‘m-a,mm ave ,q;r.mﬂ in
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Hach oto¥. Then Hur shormbaa [Salse o
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10. ABCD Is n reclangle, its adjncent sides are in the ratio 3 : 5 and its perimeter is 48 cm. Find the
length of the sides.

Lek ¥he byeodttn of Ha mmna.ﬁﬂ ko 23
and .ﬂﬁﬂ?}ﬁn be SX cuspectively .
Than

Perivneter = 2. {R%'b)
= (st 3x)
Gaven Hhod
P*’”;'“m.i-ef oo md‘ﬂr\a,h = Y& um

=

(5D = 4§ om
- 2LREX = 4 E&
= L% = 49 Wn

+ = 4w = Iump
16

R Lﬁﬁ‘a’l’hf*’ Toe = 15 UM
Prescdth = 3= Tim |




1. MULTIPLE CHOICE QUESTIONS

Tick (#) the correct option :
1. The number of sides of n regular polygon whose each exterior angle has a measiire of 45°, is :

() 5 (b) 6 (€) 7 (d) 8
Selution (d):
Fev o uu_a_uiw PaPaJmnf N- §icle
= 2" = 3 g

Lach exfevier GI\J,(J Ys®

2. If the mensure of cach exterior angle of a regular polygon is 24°, then the polygon has :
(a) K sides (b) 10 sides (e) 15 sides () 18 sides

Seludiem ()

Ncim bev of siar= 36 . ——

E.le-h "E':'-'-k"i’ o O n{rﬂﬂ

= UG =5

__________.-‘I
# L g
3. In case of a convex quadrilateral, the measure of each angle is :
(a) equal to 180° (b} more than 180°  (c) less than 180°  (d) none of these
Sduken COY! [
\ _ ~e_ ofr JLD-CJ"-
d‘ﬂ.ﬂ.ﬂl"fﬂi e b

) T :_nnve‘:l—-ﬁ**ﬂ

, | 80",
angle Qony dhan 150




4. If the sides of n quadrilateral are produced in order, the sum of the four exterior angles so formed
i-'l .

(a) 180° (b) 360° () 270° (d) 540°
Selusien Cb):
“The Sum of ol exten o ﬂvr‘LaJla) n‘( =N
qﬁ@cl{-. fatecal 15 2o,

5, The angles of o quadrilateral are in the mtio | : 2 : 3 : 4. The largest angle 1s :
(a) 36° (b} 72° (c) 108" (d) 144°

Selutton Ld)! _
| |t Ahe e osdYE- ol the {‘tﬂaiﬂb ko |x, 2%, |

1% and 4%

Thoua InC 4 15 4 3X + X = 360

F
lg:{j = ?;E.tﬁn
& - |
< = 3 - 36 ‘
=
| =
o =G g

| : _ L{
S Me sy ok ,Q‘H'ta/r,ﬂ ﬂrd)ut = iy

|
I
6. If the angles of a quadrilateral are x°, (x = 10)°, (x + 30)° and 2x°, then the greatesi angle is :
(a) 136° (b) 180° (c) 68" (d) 148° i

ol eI

The Suam of ‘HT-‘L ’{C‘“f_
nd‘ﬁtp_nﬂ“ﬂvﬁ 1S See |

Y

i Peor -8

* ten €Y arxa,lﬂ.h T
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Thesis

/

4 (x10) + (X +20) 4+ 2x" = 2o

A AL =10 £+ %0 + 2L = 3o

S 20 w k6"

SX = 360 - 26 = 3Y40°
* = 3% _ «a'
s
L M eabacye. b" Dr\aiu. aye-:
~- = ¢A°

(x-10)" = (68-10)'= 58°
k;m z,u)" = La&“—k‘z@ = “lc?.u
22X = 2% 68 = 136

ence, Hae aw_,,m‘k anaﬂllii- 136 .

7. In the figure, the measure of £C is :
., (m) 65° (b) 1135° _
(c) 135° {d) 125° L &N




f. In the figure, ABCD is a parallelogram in which
LDBC = 60°. The measure of LZADB is :
(w) 45° (b) 60°

(c) 75° (d) 55°

¢ olusdr g b)
'In o anﬂﬂﬂ_ﬂmamm &[},,Wnﬁ-fe“ an

..earoﬂ-

leevee [apR = [ DRC ('ﬂjk‘fﬁfh& ﬂna"g“)

e

L ﬂ D@) - Q [
quadrilateral 1 ite si lel is called :
> A{ll I'.llll\"- i ﬂﬂl‘!’{;nﬂrhnplir;; e “::T I:;lmu::l (dy paralielogram
Sl om (&) ) D[—

b tﬂdd ong P |
N "\a cgiﬁ_td-* hﬂpﬂwum'

000 15
opposite s P

10, The diagonals of a parallelogram ABCD intersect at O. If £BOC = B5® and £BDC = 65°, then
LOAB js : ¢
{a) 10° (b) 20° (c) 40° (d) 95°

seluhenidb)

o e
[poc= e~ 8° o c
_ L L5
= 95 e




| Tn b Dog,

{ spe. L PO # L= 188

k=]

68" + 95> # Ldeo = 198

LDco= 186" — (5957

— 5

20

Loae = L Dco (AR ter net nr._a,m)

= [Oab= 20 .

¥ V, TIONS
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usunlly play together and share their toys and things with each other. They have some cardboard
cutouls as ghown below :

COSOLOS

Maryos!
(0) Write the name of the shapes each boy has.

(b) Find the sum of the interior angles of ench shape.
() How many dingonals does cach shapes has?
(d) By sharing their toys with each other, what qualities do these boys show?

Salishen

a) () Hexeoqors
Cil) Pendeqorv
) Repie gon

Ras -8 55/“—




(b)

Suwmn of
N G.-La,u_;, :,JF& peﬂ-aacmf of n-Sicdua

= (an- H_)':%ta ht Q ﬁaz@-‘-

Thooa

() RHee n= 6
Camz (pwb-4) Ko = F2O

| Q) Heve n=S

g_um:. L‘:}_j.,s -'L’l) ‘#. an — 5 "ffl't

C\l) Heve h=7F
Cum s ((2¥F-U) xq0° = 0O

it\!) Heyc e &
St = (,L':Lﬂ'*"?)?wﬂh = |o8®




.'l
[l"'l) Hewe n= 2,
Sumn = (r3-4")% 4o = |Qn°

Q\“J hevc n=9

Sum = (_L‘#%'L{)%QE = 1260

uﬂ) Heve. n=Y
Cum = (2%H-U)pas = 36

(O
To hind Hrs dﬁﬁ}mﬂh,%ﬁ. MMWA-

n(..'n--'ﬁ)/fl_ | wohere A 1s e ruambaY 6f-siclon.

Thas
(h Hexogon hoa 3 d:!&sa_ﬂnc-ixx.

ci) Peh;j-n_agn. hos 5 auﬂapnulh.
t‘_il'lj HEP%::\_BQH hot 1Y o‘ll‘a,nnm,

&) de-aun hok 20 dimauﬁnﬂb
\D "[:mwaﬂ—t het O cﬁﬂ-‘asnaﬂh.
@‘5 Non agon hak 27 di“—aom-ﬁ-b.
(NY) Ouodylateral  hak 2 a.:a?nm_




Write T for true and F for false statements :
1. A diagonal of a polygon is a line segment connecting its two non-consecutive vertices.

2. A rhombus is a regular quadrilateral.

3. Sum of the inerior angles of an B-sided polygon is 1080°,

4, For a regular polygon, number of sides = Elchufhrml.lu'

& The maximum exterior angle possible for n regular polygon is 100°,
6, The diagonals of a rectangle are equal and bisect each other.
7. Every square is a rhombus.

i, Every parallelogram is o rhombls.
9 The sum of the measures of interior angles of a polygon of n-sides is 360",

1. Every parallelogram is n Irapezium.
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